B VCE & PDF https://lwww.geekcert.com/h31-611.html
' 2024 Latest geekcert H31-611 PDF and VCE dumps Download
: GeekCert.com

H31-611°%As

HCNA - SDN(Huawei Certified Network Associate - SDN)

Pass Huawei H31-611 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.geekcert.com/h31-611.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Huawei
Official Exam Center

@ After Purchase

@ Guarantee

O Free Update SKTISFACTION GUARANTEEp
@ Satisfied Customers

H31-611 PDF Dumps | H31-611 Practice Test | H31-611 Exam Questions 1/3


https://www.geekcert.com/h31-611.html
https://www.geekcert.com/h31-611.html
https://www.geekcert.com/h31-611.html

VCE & PDF https://lwww.geekcert.com/h31-611.html
2024 Latest geekcert H31-611 PDF and VCE dumps Download

GeekCert.com

QUESTION 1

Which of the following factors does not affect the performance of the SDN network?
A. Network congestion

B. Routing loop

C. Access loop

D. Access control list

E. Non-optional route

Correct Answer: D

QUESTION 2

Which of the following statements are true about the DIS in IS-IS? (Choose all that apply.)

A. A DIS creates and updates pseudo nodes on a broadcast network.

B. DIS election is unpredictable.

C. When all IS priorities are the same within a LAN, the IS with the largest MAC address is elected as the DIS.
D. DIS election on a broadcast network is held in preemption mode.

Correct Answer: AC

Reference: https://support.huawei.com/enterprise/en/doc/EDOC1100055485/4110e8a/basic-protocols-ofis-is

QUESTION 3

The OpenStack architecture comprises which of the following components? (Choose all that apply.)
A. Nova

B. Neutron

C. Cinder

D. NetMatrix

Correct Answer: ABC

QUESTION 4

Which of the following statements are true about the comparison between OSPF and IS-IS? (Choose all that apply.)
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A. OSPF runs on the IP layer, and I1S-IS runs on the data link layer.
B. For IS-IS, a router belongs to multiple areas, but in OSPF, a router can belong to only one area.

C. DIS election in IS-IS is simple, preemptive, and can be predicted. DR election in OSPF is unpredictable and non-
preemptive.

D. OSPF supports P2P/P2MP/NBMA/broadcast networks. 1S-IS supports only P2P and broadcast networks.
Correct Answer: AB

Reference: https://learningnetwork.cisco.com/thread/123472

QUESTION 5

The SDN controller has a global view of the entire network.

A. TRUE

B. FALSE

Correct Answer: A

Reference: https://books.google.com.pk/books?id=0dhwDwAAQBAJandpg=PA421andlpg=PA421anddg=huawei +SDN
+controller+has+a+global+view+of+the+entire+networkandsource=blandots=tQRdkT5nBandsig=ACfU3UlisE1ggNHUJ
pXiPOfl4sjQPPXSgandhl=enandsa=Xandved=2ahUKEwitrdnVi4PnAhVBQB0oKHY30BUgQ6AEWC30ECA0QAQ#

v=onepageandg=huawei%20SDN%20controller%20has%20a%20global%20view%200f%20the%20entire%
20networkandf=false
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